Trigonometric Ratios

*** Must have calculator in DEGREE mode ***

Primary Trigonometric Ratios
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Reciprocal Trigonometric Ratios
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Reciprocal ratios are not found on a calculator....we must
learn how to use the reciprocal function on our calculator.
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EXAMPLE - Finding an unknown side
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EXAMPLE - Finding an unknown angle
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EXAMPLE - Solve the triangle (find ALL sides and angles)
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HOMEWORK...

Worksheet - Primary Trig Ratios.doc
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B 1. Find the measure of the indicated angle.
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2. Find the length of fhe indicated side.
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3. Solve the following triangles.
(a) (b)-

A

(e)
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1. (a) 39° (b) 53° (e) 60° (d) 35° (e) 45° (F) 57° (g) 65° (h) 28° §
2. (a) 142 b) 134 (c) 355  (d) 89.9 (e} 1.8 (f) 235 (g) 112 (h) 161 1,

3. (a) LA=39 £LC=51°, b=32 (b) LA=45°, 3=80.6, c=80.6 (c) LA =25° a=6.34, b=13.6
" (d) £LB=52°, £C=38,¢c=117 f{e) b =539, LA=50°.LC=40° (f) c=3.91, LA=40° /B=50°
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